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Directions (1-5): Study the following information
carefully and answer the questions given below-
e TMar #7 SamgEs segad Fifeg s 9 kg
T AT F I G-

Eight persons B, Q, V, C, R, T, Y and U are sitting around a
square table in such a way that four persons sit on the
corner of the table and other four persons sit on the middle
of the side of the table. The one who sits at the corner of
table faces opposite to the centre of table and the one who
sits at the middle of the side of table faces towards the
centre of table. Persons sitting on opposite sides are exactly
opposite to each other.

C sits 3rd to the right of U who sits at the middle of the side
of table. T sits 2nd to the left of C. One person sits between V
and T. Y and Q sit immediate left of each other. R sits 2nd to
the right of B but not face to Q.

#s ==H- B, Q, V, C, R, T, Y 3T U T aTehTE T o AT AT
TH TR ¥ 95 g T F¢ ATE 99 % T0F 91 |l T a5 &
ST o7 AT TR AT AT TAF AT o6 HeA | IS 81 TS & il
T S5 FTH S % % 6 [AHE & AT HST &l qofT 6 7T | 95
T<h |1 & % G5 g| TF @ Tl 92 9 AT<h U gAY &
2 FTHA 2

C, U, STT 9T T ST o Wed § 937 &, % a0 § o (9L T4 T 957
21 T, C a0 & gAY TIF UL 9371 gl VT T 19 § UF ARG
FoT 21 Y 3T Q U TAY & [Hhedq 910 935 §1 R, B 20 & g8
TAT 9T I3T g AT Q F TIF{E A5l &l

Q1. What is the position of B with respect to Q?
Q¥ T3 § B T T T 872

(a) 314 to the right /aT0 & F&T

(b) 5t to the left /aTd & =4t

(c) 27 to the left/aTT & FEIT
(d) 3rd to the left/aTd & FroT

(e) None of these /Z7H | &S qol

Q2. Four of the following five belong to a group in a
certain way, who among the following does not belong
to that group?

FRafiag o= § 9 91 Gl ) 8§ 1= 9qg @ 99fea §,
FRafieaa & @ 9t 91 39 a9g ¥ gefiq 181 82

()T

(b)C

(c)Q

(dV

(e)Y

Q3. Who among the following sits diagonally opposite
to Q?

fefifaa & 9 s QF fawl =7 & a9 JoT 87

(a)C

(b)T

()R

(d)B

(e)Y
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Q4. __ sits 3rd to the left of the one who faces to R.
___R% q¥@ =qTxh % 97U q a9 9T I3 3
(@Vv

(b)C

(@Q

(dT

(e) None of these

TAH | AIE TET

Q5. Which of the following statement is true?
Rufifeg ® & #1991 F97 a7 8?7

I. Vand Y are not an immediate neighbour/V 3% Y fAseaw
TETHT T €

I1. B faces outside/B aTg< & ¥ @ g

111 U sits immediate left of Q/U, Q % fHsheaqw a0 I=7 ¢
(a) Both IT and III/11 3f< 111 =T

(b) Only I11/3F@e 111

(c) Only I/%a< I

(d) Both I and I1/1 3f¥ II 4t

(e) AlLL, IT and IIT/&+T I, 11 3f¥ 111

Directions (6-10): Study the following alphanumeric
series carefully and answer the questions given below:
e sre-Tdie-aeaT @ FT SqTgaH ATAT HIT
IR = Ru 1o ot % s S
@V1XAD%GS&HJR6Y#IL9$S78%

Q6. How many numbers in the series are immediately
preceded as well as immediately followed by
alphabets?

e # UHT fhael geary €, S 3t o sk diw ae #
T A& 872

(a) None /#TS T2t

(b) One /T+

(c) Three/ =

(d) Two /=T

(e) More than three/ i+ & e

Q7. If we eliminated all the vowels in the given series
then, which of the following element is 5t to the right of
1?

af gH 3T sfEen & 9t = i ger ], @ e & &+
T T 1% ITC A T=aT aF 872

@Y

(b) #

(G

(dL

(e)$
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Q8. How many letters in the series are immediately
preceded by symbols?

saeTT & ey et & e weet st &7

(a) Three/d=

(b) Four/=TX

(c) None/®TE &l

(d) Two/aT

(e) More than Four/=T & 3fer®

Q9. Which of the following element is 9t to the left of
the element which is 15t from the left end?

frafafe & & 9 a7 o 910 IR & 153 9 F 918 & 94t
T 82

(@)D

(b) L

(c)$

(d) 7

(e) None of these/37H H FIS AT

Q10. If we eliminated all the alphabets in the given
series then, which of the following element is 9t to the
left of 8?

7t g7 39 H@dr & et el #1 g2 &, at afafeq # @ wT
T I 8% AT & 997 acF 8?2

(a)6

(b) #

(c)$

(d1

(e) None of these/Z7H H FIS AT

Directions (11-15): Study the following information
carefully and answer the questions given below-
frafafaT Sl &1 ermgds sreram il & fiw Ra
T T 3 3T S1fSu-

Seven persons go to market on different days of a week
starts from Monday. More than three persons go market
after U. Four persons go market between U and K. The
number of persons goes market between K and H is same as
the number of persons goes market after K. Two persons go
market between H and R who goes market after S. T goes
market just before Y who goes market after Thursday.

AT ATH FHAT 8 T g4 ATl UF TATE 6 AAT-3TT [aa1
H TSI ST &1 U S a7 o9 & Tfares =7i=e areime Sird g1 U s
K = § 97 =feh aTeie ST 81 K 3 H & $19 § aeie e
T ARAT il HEAT, K FTE TS AT aTel A ThAT o0l FeAT
* TH g1 H 3T R, ST S % 977 ITSTE SITaT 8, o o9 § a1 =A<h
TS ATT g1 T, Y, ST Jeafaars % aTg I ATdT 8, * 3
TE AT ST &

Q11. How many persons go market after H?
H % a1% fohae =af=p s s 8?7

(a) More than four/=T 7 rfar®

(b) Three /=

(c) One/T=

(d) Two/aT

(e) None of these /37 & FIs qal

Q12. Who goes market three days after U?
U & 7 R 12 :19 IR ST 82

(@Y

(b)H

()R

(AT

(e) None of these /3% H &I Ag!

Q13.The number of persons goes market between S and
U is same as the number of persons goes market before

S X U & i 99} S arer AReat i dem m, _ F a8
ISR ST IS ARAT $T G&AT F TH B

(@ H

(b) R

(©S

(dK

(e) None of these

TAH | AIE TEL

Q14. Which of the following statement is not true?
Rufcfed § & F19 a1 F97 9 751 &7

I R goes market before Thursday/R FgeIfdaT® & g STSITT
ST &

I1. H does not go market before T/H, T & 9g STITT A1 ST

i

III. More than three persons go market between Y and S/Y
T S F = | A1 T S(fere =7 a9 o1 8

(a) Only 111/ 111

(b) Both II and I11/11 3/ 11 E=t

(c) Only I/%a< |

(d) Both I and I11/1 3 I1I 1T

(e) Only Il /&=t 11

Q15. How many persons go market between K and R?
K3z R% fi= # fba =iz ame sia 87

(a) More than four/=TT & far®

(b) Three /=

(c) One/T=

(d) Two/aT

(e) None /&TS T8I

Directions (16-20): In each of the questions below,
some statements are given followed by two conclusions
numbered I and II. You have to assume all the
statements to be true even if they seem to be at variance
from the commonly known facts and then decide which
of the given two conclusions logically follows from the
information given in the statements.

9 T T w3F 7 |, T FAAT H 919 10T 11 FHiTh &
e R g g sroehr T FEET A AT ATEAT R, AR B A
T 1T 724 & Fover wefia g1 gt =ik fe aw <fifSre fa fag
T 7 FASHET & § BT T FAAT A &T TS TR FT AT S T
T ST FAT Bl
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Q16. Statements:
Every shine is cloud.

ERD

T TS FATSE &

Only a few cloud are nine.

No shine is bright

FAT TG, FATIE AT Bl

FTE ATEA ATZE T2l 3l

Conclusions:

e

I. All shine can be nine/ FHT 9T AT &1 T &

I1. All bright can be nine/ Y STz AT &1 T 2

(a) If only conclusion I follows/af& Faer At | ATHIT
FATE

(b) If only conclusion II follows/af% Faer A 11 ATHLT
FATE

(c) If either I or II follows /=% =T AT 1 AT [ ATET FAT &
(d) If neither I or II follows/af& T T 1 i T 2T 11 AT
FATE

(e) If both I and II follow /=T 1 37 11 ST STHEIT A &

Q17. Statements: No play is right. /F39: FIs = T2 981 Bl
All music are play. /& ¥f5F = &I

A few guitar are music./F& e 7o 2

Conclusions:

I. No music is right.

I1. All guitar can be right.

Ao

I ERC B ERECE FI A

1L 7+t RreTe Tree g1 9 &l

(a) If only conclusion I follows/af% Fae AT 1 sIgaor
FLATE

(b) If only conclusion II follows/a% Faer AT 11 AT
FATE

(c) If either I or II follows /=% AT T 1 AT [1 ATE FdT
(d) If neither I or II follows/af% 7 @T I 3T T &I 11 SITATOT
FLATE

(e) If both I and II follow /=& 1 37¥ 11 FAT SALHII F2d 5

Q18. Statements:

Some home are door.
Some door are room.

No window is door.

FA: T g1 S 2

TE S T H g

1 T S At 21
Conclusions:

I. Some home are window
I1. No window are home

e
L. FZgm &= gl
11 &7 f&eT g =gt 2

(a) If only conclusion I follows/f% Faer fAewd 1 ERGEU)
FIATE

(b) If only conclusion II follows /=% Faer fAeh 11 I
FIATE

(c) If either I or II follows /&E =T AT 1 AT 11 STLEI F2AT &
(d) If neither I or II follows/af& T @T 1 3fT T &I 11 SITATOT
FIATE

(e) If both I and II follow /=3 1 3T 1 AT STLHLOT FdA &

Q19. Statements: Only flowers are petals. /&I Fae
FATIL U2 B

No leaves are stems.

Some stems are flowers.

S AT TH 51 Bl

TS TH TATAT &

Conclusions:

I. All flowers can never be leaves

II. No leaves can be flowers

[GREDH

L. T wTaT AT AE TR BT TR

1. TS ST FATaY T21 BT dahelt 2

(a) If only conclusion I follows/af& Faer At | I
FIATE

(b) If only conclusion II follows /a3 Faer A 11 srgawor
FATE

(c) If either I or II follows /=% 2T AT 1 AT I1 STLE F2AT §
(d) If neither I or II follows/@fx 7 a1 I 3T 7 & 1 LT
FIATE

(e) If both I and II follow /&3 1 3 11 AT ST FXd &

Q20. Statements: Only a few cameras are light. /& Fae
F FHALT AT B

Only a few cameras are photo.

No light is play.

FAT T, HAL BT B

FIE ATTE = 7RI 2

Conclusions:/ fAet:

I. Some photo can be light

I1. All play can be camera

L. T RIET A2 21 qFll 2l

11, 7ot v ST 21 T 2

(a) If only conclusion I follows/afx Faer w1 ATHTT
FIATE

(b) If only conclusion II follows /7% Faer At 11 ATHTT
FIATE

(c) If either I or II follows /=fx =T AT 1 AT 11 EREESE RG] g
(d) If neither I or II follows/afx 7 a7 1 3T 7 &I II ATHTT
FATE

(e) If both I and II follow /A& 1 3f¥ [1 TAT SIHLI Fed &
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Q21. If we form a four-letter meaningful word with 1st, 4th,
6thand 8thletter from the left end of the word “EDITORIAL”
(using each letter only once), then what would be the
second letter of that meaningful word? If no meaningful
word is formed, then mark the answer as X. If more than one
meaningful word is formed then, mark the answer as Z./af&
29 9153 "EDITORIAL" % 10 BT F Tgd, AT, F& AT 5d
FEATT | ATC AL AT AT 975 qATT 8 (AT AT T FAA
T FC TAN Fd gU), T 39 91eF 9758 T gaT FAT T
NIT? AT IS AT 9T A5l a9dT &, a7 Ia< & X o & |
e ST 7t U | Srfers AT 9re8 a9 8, a1 I &l Z
F =7 H sifera Fiform)

(a)E

(b)Z

(T

(d)X

(e)A

Directions (22-24): Study the following information
carefully and answer the questions given below.
e s #7 SAmMgEs qegaq Fieg s 9 [Ry
T T 3 I ST

Point S is 5m to the east of point R which is 4m to the south
of point T. Point K is 7m to the south of point S and 10m to
the west of point I. Point R is 3m to the east of point P. Point
] is to the north of point I and to the east of point T./ﬁ'g’ S,
AgR @G T 4 M FROTH §, % 5 Hlex [@ 7 gl A3 K,
g s 7 Hrex afaror # ofiw g 1 10 Hex afzm & 81 W R,
fifg P 3 Wer qF # 31 fig ), Fig 1% 9w & AR g TH
H 2l

Q22. What is the shortest distance between point S and
point T?

fofg S 9 fofg T3 ey Y =i 8 7T 7

(a) 42m/ Hrex

(b) 31m/ Hex

(c) 41m/ Hr=x

(d) V41 m/ Hex

(e) V31m/ Hiex

Q23. What is the total distance from point K to point J?
foig K& foig J a1 g gt 41 87

(a) 19m/ Hrex

(b) 21m/ Hex

(c) 25m/ Htex

(d) 29m/ Hex

(e) None of these/ T7H & FIE ol

Q24. In which direction is point I with respect to point
pP?

fifg P wwaet & g 1 v R 22

(a) North/ 31X

(b) North- west/ IAL-Tf%H

(c) South- east/ ZfEroT-g&

(d) South- west/ aferor-gfam

(e) South/ zfaror

Q25. Find the pair of digits in the number ‘463527139’
each of which has as many digits between them as they
have in Number series (both in forward and backward
direction)?

H&AT '463527139' § Siwl & U T 19 Fifog, ™@H &
el ¥ i e A I € o & e s e e # (e
3 i AT fRemet §) sa% fi=r 82

(a) Four/ =TT

(b) Three/ &=

(c) One/ U=

(d) None of these/ Za% | &I Ag!

(e) Two/ =T

Directions (26-30): Study the following information
carefully and answer the questions given below.
Ruferfea TearT 1 SaWgEs wegaq Hie o 7= [y
T T7 F I ST

Six persons were born on 5t and 28t% in the months-
January, June and September of the same year.

Two persons were born between F and E. F was born in the
month having minimum number of days. B was born just
before D who was born after E. A born was born on an even
numbered date in the month having odd number of days. C
was born before A.

TE AREIT T S0 UF of a9 & Sa<T, 7 A7 Hda agmt
o 5 v 28 fafer = gam =m

F 3i¥ E & &= § a7 SARRAT F7 S0 gl 7| F T 77 a9
AT a1t A | g3 ATI B &7 +H D, &1 S+ E % a1 gl
T, % 31 Tgel gaTl 9Tl A FT S+ A gwear § &1 arer 7gie
H TF FH HE&AT ATl (AT AT g AT| C FT T+, A | Tl goll
Tl

Q26. Who among the following was born on 5t
January?

Rufiaa & & g S 5 STa FT g A

(@A

(b C

() E

(dD

(e) None of these/ TAH & FIs Al

Q27. How many persons were born before the one who
was born just after D?

D % &I 1E 7R A6 & T8 Fohaet ARl T SeH g AT?
(a) None/ TS gl

(b) Three/ 1=

(c) Four/ AT

(d) Five/ 9=

(e) Two/ a&T

Q28. Four of the following five belong to a group in a
certain way, who among the following does not belong
to that group?
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FRafefa o= § 9 31 Gl =) 8 = 9qg @ 996t €,
FRaferiag & & #9919 a9g ¥ gefaa 781 82

(@) E

(b) B

(c)A

(d)F

(e)D

Q29. Who among the following was born on 28t of
September?

fefafaa & & frer Swr 28 Rda #r ger am

(@) F

(b) D

(c)B

(d) E

(e)A

Q30. Which among the following statement(s) is/are
not true? AT & & w9 qU/F FI7 a7 TET &/8?

(a) B was born after C/B &T S+, C % aT& REEURI

(b) D was born on an odd numbered date/D T 5=9 U fawr
AT ATt fafer & g ar

(c) At least two persons were born after A/A F T &0 & FH
T SATRAT T ST gl AT

(d) D and F were born in the same month/D 3T F T 578
T Teid § gl AT

(e) A and B were born on different numbered date/A 3i¥ B
T STeH STT-3TeT AT AT (T2 T g a7

Directions (31-35): Study the following three-digit five
number series carefully and answer the questions given
below.Fofifea dim-sifiT o= =Tl aml g@«r #1
ST eI HIT S A= =T 17 751t & I A

476 983 458 923 628

Q31. If the first and third digit of each numbers is
interchanged then how many odd numbers are formed?
I T AT & T8t ST AL oieh M MUY § a1 4T (1w
& ¥ fnaet faww =g st 82

(a) One/ TH

(b) Two/ =T

(c) Three/ =

(d) None/ #T< &1

(e) More than three/ 17 & 7far

Q32. If the digits within the number are arranged in
descending order from left to right then what will be the
sum of the highest number and second lowest number
thus formed?

g G&aT F W< sist At 0§ ITC @A v J AR
T SITaT 8, A 39 TR i gad St g s} gl gee
T TEAT T TIT AT GIIT?

(a) 1877

(b) 1847

(c) 1837

(d) 1820

(e) None of these/ TAH & FIs Al

Q33. If 1 is added to all the even numbers and 2 is
subtracted from all the odd numbers then which among
the following becomes the third highest number?

% Tft a7 gearsit | 1 =T ST § o} qeit fFww dearst 8
T 2 T STar &, 3 Rt § & # dod a9 38t @1
I ST 82

(a) 923

(b) 983

(c) 628

(d)476

(e) 458

Q34. If all the numbers are arranged in ascending order
from right to left then which among the following is the
4 number from the left end?

T it Tl il S0 A 70 AET 79 | Aatedd fahar smar
2 &1 Frafafe & & A7 6 910 SR & it der &7

(a) 983

(b) 628

(c) 923

(d) 476

(e) None of these

TAH | AIE TE

Q35. How many numbers are divisible by 4?
ot =g 4 & favrsT 82

(a) None/ &I gl

(b) One/ T=

(c) Three/ &=

(d) More than three/ &= & stfar=

(e) Two/ &I

Directions (36-39): In these questions, relationship
between different elements is shown in the statements.
These statements are followed by two conclusions.
Assuming the given statements are true, then find out
which of the given conclusion(s) is/are definitely true.
T it &, el & A aot & i wew o gt w@w |l
T AT & T8 & e g e §) R e w6 aer e
T, Ta Hivg fa e e Fewwt & & sW-ar/a RiEa s
T 2/

Q3e6.
Statement/ &A=

P>TzU<M=H=2W=L<]
Conclusion/ farsad:

L. T<W
IL H=T

(a)If only I is true /7T FaeT [T

(b) If only II is true /=% Faet [ AT &

() If either I or Ilis true/FfX AT AT [ AT I T &

(d) If neither I nor Il is true /A T AT [ AT T BT L1 T &
(e) If both I and II are true /== I ¥ 11 T 97 &
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Q37.
Statement/ -

7>9<6=124>3=2
Conclusion/ forssd:

[.9<4
II.2<6

(a)If only I is true /=3 FaaT [FT §

(b) If only Il is true /=& Fa<t [ HT &

(c) If either I or Il is true/AfF AT AT AT HA &

(d) If neither I nor Il is true/AR T AT [ AT A G 1 TAT §
(e) If both I and II are true /=T [ < [ IHT T &

Q38.
Statement/ ®U:
A<D<S5=T>Y=M<«<F
Conclusion/ FreHy:

[. D<Y
II. S2F

(a)If only I is true /=3 FaaT [FTE

(b) If only Il is true /=% Faet [ 7T &

(c) If either I or Il is true/AfF AT AT AT HH &

(d) If neither I nor Il is true /AR T AT [T A ST LI AT &
(e) If both I and II are true /=T I < [ T T &

Q39.
Statement,/ HA:
P>TzU<M=H2W>L<]
Conclusion/ forsed:

1. U<H
II. W<T

(a)If only I is true /=3 FaaT [T E

(b) If only II is true /=% Faet [ 7T &

(c) If either I or Il is true/AfX AT AT AT I HF &

(d) If neither I nor Il is true /AR A AT [T A ST LI TA §
(e) If both I and II are true /=< I < [ AT T &

Q40. In the given word “POPULISM” all the vowels are
changed to their just preceding letter and all the
consonants are changed to the just succeeding letter
then how many letters appears twice?

= & 15 arferr A9 srerT-srerr fyenfEar g e T
T 3 A T T T RETdt 31 2T B A q U SN

7T % I o)
Players/ | Number of fours | Number of sixes
f@arst | hit/ @ @ hit/ #IMT AT
diwl T TEI | SFF H1 HEdT
A 62 40
B 31 25
Cc 44 20

Q41. Find the difference between total run scored by C
from fours and total run scored by A from sixes?

C ST Fhi & THTT T Fol T T A GRT Sl & S T Fe
TT F W Sfa< [T hiforw)

(a) 72

(b) 64

(c)74

(d) 84

(e) 80

Q42. Find the ratio of total run scored by B from sixes to
total run scored by C from sixes?/B g EEIK] q1¢ Y
T T HT CERT SHE & 1T T T T & FLATT AT HIToIQ)
(@)2:3
(b)4:7
(c)3:5
(d)5:4
(e)4:5

Q43. If total fours hit by X is 9 1/11% more than that of
by C and total sixes hit by X is 25% more han total sixes
hit by A, then find total run scored by X from fours &
sixes? /A< X ERT FMC TT FA Ak, CH 9 1/11% ATEF §

I X G ¥9ITY 1T 31 S, A §IXT AVTT 1T $F St & 25%
STee &, TN X EIT 91! Sl Sl & IATE T FA T A1 hi1org|
(a) 472
(b) 502
(c) 462
(d) 482
(e) 492

Q44. Find the average of run scored by A and C from
fours?/A 3T CERT JHT & THTT 7T T 7 {9a A1a hifSrw)

T 7T orsg "POPULISM" &, T+t &<t &t Svah &1 fUset st | (a) 218
¥ gaw T strar € i) avly e A Ses St s s ® | (b) 216
e Fe ST &, Y P o & e et A 2 et
(a) One/ U= (e) 202
(b) Two/ =T
(c) Three/ §7 Q45. Total runs scored by A from fours is what percent
(d) Four/ I (approx..).more than total run scored‘by B from sixes? ]
(&) None/ #1% 7 ggﬁﬁﬁ%%mw@vamaﬁﬁmw@v@
T (FTVAT) T8 82
Directions (41-45): Table give below shows total %g A;?;//Z
numbers of fours and sixes hit by three different | (¢)g59,
players. Read the data carefully and answer the (d) 70%
questions. (e) 55%
6 I www.sscadda.com | Adda247 App
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Directions (46-50): Find out the missing number in the
given number series./3t T H&AT J@AT § JH GEAT AT

o

Q46. 1, 2, 5, 10, 17, ?
(a) 24
(b) 25
(c) 26
(d) 27
(e) 28

Q47. 8,12, 20, 36, 68,?
(a) 132
(b) 120
(c) 124
(d) 136
(e) 128

Q48.2,7,30,74, 154, 282
(a) 16
(b) 18
()12
(d) 10
(e) 15

Q49. 5 6, 10, 19,
()75
(b) 60
(c) 66
(d) 54
(e) 64

Q50. 1, 6, 16,
(@) 79
(b) 72
(c)74
(d) 76
(e)77

31, 51, ?

Q51. A man invested Rs. P at the rate of 10% p.a. on
simple interest for four years and gets a total interest of
Rs. 1000. If he invested Rs. (P + 500) at 20% p.a. on
simple interest for two years, then find the interest

received by man? /T ={< 91X 99 & forT ATETXOT SATST 92
10% ¥ 9% &t T & P T9F &7 [Far T g i F 1000.
&, & T AT TTH HLAT gl AE A QX 99 F Mg qremeor
TS UX 20% i a9 Fit X T (P + 500) T *7 [aer B
FaT, AT =R ST T TS AT HIIC)

(a)Rs.800 / 800 %.

(b)Rs.750 / 750 =.

(c)Rs.600 / 600 .

(d)Rs. 400 / 400 =.

(e)Rs.1200 / 1200 =.

Q52. Average age of nine member of a family is 31 years
and four months. If the age of youngest members of the
family is 18 years, then find the average age (in years)
of remaining eight members of the family six years ago?

T IRAR F AT 93€d1 #it i eq o 31 99 3T 91X #7gie €l
T TR & Tad gie gaegt fit g 18 99 &, 71 55 99 T5
TRATT o Y 375 TIEAT T 3raa A1 (T §) F19 Forw)

a) 30

()28

(c) 23

(d) 27

(e) 29

Q53. The population a city after three years will be
21,600. If rate of increase of population per year be
20% then find the present population of the city?

A el e T TR A STt 21,600 3 ST TR g e
SEET i T T 20% §, qT gL hT TqH ST T
ENIE Y

(a) 12,500

(b) 16,500

(c) 14,500

(d) 10,500

(e) 11,600

Q54. A shopkeeper marks up the price of an article by
40% above cost price. He allows 25% discount on mark
price and earns Rs 420 as profit. If he allows discount of
20% at the place of 25%), then find his profit?

T HIRIR TF 960 1 I 7 o7 9 40% S8 sifoea wear
8 a8 i 7T 9T 25% Hit e 3T § 3% AT F T | 420
TY FATAT 81 IS a8 25% & T 9T 20% i e <aT §, qv
IHHT AT AT hHSQ

(@) Rs 1204 / 1204 &7

(b) Rs 1240 /1240 =93

(c)Rs 1180 /1180 =4

(d) Rs 1008 /1008 =9

(e) Rs 1080 / 1080 &1

Q55.The circumference of two circles is 132 m and 176
m respectively. Find the difference between the area
(in m?) of Jarger circle and smaller circle?

21 gt A qffer wer: 132 Hiex siw 176 Hiex 81 a2 99 %
BT T F G @ #F e 7 3a< A1 AU

(a) 1052

(b) 1128

(c) 1258

(d) 1078

(e) 1528

Q56. A takes three times as long as B & C together take
to do a work. If all the three working together can
complete the work in 24 days, then find in how many
days A will complete the work alone?
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B 3% C feree et 1 &r e | Sraar aag @ €, sea g
AT srferk @ A el 0 & e | < &) afy it 24 [
H T4 T A OO F TR &, a1 T HIT o A skt g
AT 1 F T REM?

(a) 100

(b) 96

(c) 84

(d) 90

(e) 104

Q57. The speed of boat in upstream is 3/5 th of the
speed of boat in downstream. If the speed of boat in still
water is 6 km/hr more than the speed of stream, then
find the total time taken by boat to cover 35 km in
downstream and 15 km in upstream?

GTRT % TFAHA 1 fiT ATA YRT F FTHA ATl 91 7 3/5
&1 T2 oriq ST | A1 T AT, 9T A A1 | 6 Fhefi/sier srfe
&, a7 &1 & e 35 T o ey F wfage 15 Rt fr @
T HE | AT G -7 T o §9F 79 g

a) 5 hours /5 H9c
(a) 5 _
) 5§h0urs f5% a1
(©) 7 hours /7 9¢
(d) 6 hours l6 T&

1 1
(e) ?Ehours f?; ¢

Q58. A invested Rs.9000 in a business. After four
months, B joined the business with Rs. ‘X’. If at the end
of the year, the profit share of B is Rs.800 out of the total
profit of Rs.1700, then find X?

A TF A9 § 9000 T4 &1 a9 fham 9= wgiH & a1
B, ‘X’ ¥4 % T HATITK | ATHA gT AT IS a9 & ofq@ &
1700 T % FT AW & & B % ATH [ [ZedT 800 T4 &, T X’
T AT L

(a) 12000

(b) 14000

(c) 15000

(d) 20000

(e) 18000

Q59. A container contains mixture of milk and water
in which milk is 50% more than that of water. If four
liter of milk is added in the vessel, then now milk
becomes 100% more than water. Find the initial
quantity of mixture?

TF Hed< § g < I+ 1 fFsror g Sras g Ot ' 50%
Ffer g1 TS o | IR A e g9 ST 397 7T, ¥ o190 g et
" 100% S8 g1 1T g1 Fsror Y e wra sra Fifvra
(a) 20 liters/dTex
(b) 24 liters/ #1ex
(c) 15 liters/ #tex
(d) 40 liters/ #te<
(e) 36 liters/ #ftex

Q60. A train having length of 110 meter is running at a
speed of 72 kmph. If length of a platform is 4.5 times to
the length of the train, then find how much time train
will take to cross the platform?

110 Hiex It TF o 72 fly wia s it 919 & = ¥ )
X TF Wewd i dGrE 3T F FGE A 4.5 T[AT €, I WAHH
T I HA § & HT FohaaT T0g F9/m?

(a) 25.50 Second/T#HE

(b) 20.25 Second/&&E

() 35.50 Second/TFE

(d) 30.25 Second/&&zE

(e) 40.50 Second/T#HE

Directions (61-65): Line graph given below shows total
number of three different colour of trousers sold by two
(A & B) different shops. Read the data carefully and
answer the questions.

= =T 1 YT 9T & AT @A (A 3T B) gRT A= U
T STAT-TET 0T o T T Tl HEAT T F2TAT gl 2T Al
AT | I8 3 T % 3T e

——A B

200
190 Py

180 /\
170

160 / »

ram——

140
BLACK BLUE GREEN FINK

Q61.Find average number of green & pink trousers sold
by both the shops?

AT THET GIRT = T g4 S ATl vt F shea dear
wTa v

(a) 354

(b) 344

(c) 352

(d) 342

(e) 337

Q62. Find the ratio of total number of blue & green
trousers sold by A to total number of blue & green
trousers sold by B?

A BT S U Aot 3 gL GT Hit TAAT Y T 94T T BERT
F Y A ST FL G & TASHAT hr TA GAT T AT AT
Hifcra

(@)1:1

(b)2:3

(c)8:9

(d)5:6

(e)5:4
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Q63. Total number of black & green trousers sold by B
is what percent more than number of blue trousers sold
by A?
B g7 9=ft T2 et 3f% g6 waeAl it T e, A gy o=t
TE eft Tt T Fear & fhaw giaer srfdw &2
2

116-%

(a) 3

(o) 125%
(@ 112:5%
(o) 120%

Q64. Total number of Black, Blue & Pink trousers sold
by A is how much more or less total number of Black,
Blue & Pink trousers sold by B?

A ST Y T FreAt, AT SR AT GAAT F FA GEdT, B
TR =T TS AT, Hreft i et aeaeqmt 6t g wear & fhast
stfers a1 F9 82

(a) 24

(b) 30

(c)18

(d) 36

(e)12

Q65.Find the total number of all four colour of trousers
sold by B?

B &TRT 31 T T+t A GV T Iaqeqeil T el TEAT A1 Ao
(a) 672

(b) 674

(c) 682

(d) 688

(e) 692

Directions (66-77): What will come in place of question
mark(?) in the given questions.

o 1w vt § werETEE e (7) F S U =T SEe?

Q66.
6080 + 19=79% of 256

6080 +19= 256 @1 ? %
(a) 137.5

(b) 75

(c) 150

(d) 125

(e) 175

Q67.

(48% of 625) + 0.75 =2

( 625 T 48%) + 0.75 =7
(a) 800

(b) 600

(c) 200

(d) 500

(e) 400

Q68. V225 + 150 X 30 + 6 — 11 X 20 =?
(a) 565
(b) 485
(c) 545
(d) 500
(e) 600

Q69. 345 + 727 — 628 =7
(a) 450
(b) 444
(c) 448
(d) 455
(e) 460

Q70. 7 —16° = 428 — 298
(a) 386
(b) 388
(c)378
(d) 374
(e) 394
El 3 2
- -2 =7
Q71. 43 + 2 2 3z

(a) “24

ii

(b) 24

i}

(C) 14
5

(d)~ 24
El

(e) 24

360 — 80% of 1200 =? —840
Q72. 360 — 1200 7T 80 % =? -840
(a) 250
(b) 240
(c) 260
(d) 220
(e) 280

Q73.V7= 28" — 1180 + 20°
(a) 64

(b) 100

(c) 16

(d) 36

(e) 144

Q74.(2)% +25x 12 = 4800 + 12
(a) 10

(b) 14

(911

(d) 16

(e)8
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Q75. (36 x 8) — (440 + 8) =7
(a) 221
(b) 252
(c) 233
(d) 278
(e) 215

22431=7-12
Q76. 3 & 2

(a) 11
(b) 6
(7
(d)8
(e)9

Q77.
20% of (? + 96) =30 X 1.6

(7+96) T 20%=30x% 1.6
(a) 128
(b) 168
(c) 140
(d) 144
(e) 160

Directions (78-80): Two companies A & B manufacturing
three different items Balloons, Balls and Toys.

Total balloons manufactured by B is 25% more than that of
by A and the ratio of total balloons to total balls
manufactured by A is 2: 3. The difference between total
balloons manufactured by B and total balls manufactured by
Ais 5 and total balls manufactured by B is six more than that
of by A. The ratio of total toys manufactured by A to that of
by B is 5: 6 and the difference between total toys
manufactured by A and B is 8.

TN FHAAIT A 37T B A1 AAT-3TeRT FqU- [T, 8 37 e
AT 81

B g1 AT %t A, A g AT gt et 7 25% sAtaw
&, 3T A g AT Fot [eamet &1 F &1 § AT 2:3 81 B
g AT Tt e oie A g AT Fer A= % /e 7 3w
5 ¢ 3fT B 3T fAfda g1 % A gy Afda W= & 27t g1
Az AT gt feaet=t #1 B g AT oo feeet & s
5:6 T TT A 37T B g1 AfHa g1 fereiiei  #ex &7 sia¥ 8 2

Q78. Find the difference between total balls
manufactured by A & B together and total toys
manufactured by A & B together?

A SR B ETRT AT a9TE TS F5et 4t 3T A 3fi BgRT e
FTE TE o7 R 3% e =7 i< ST Fifrm)

(a) 26

(b) 16

(c) 18

(d) 24

(e) 22

Q79. Total balloons manufactured by A is what percent
less than total balloons manufactured by B?

A T e F1 T, B g e 3 et & fraw
giaera w7 &2

(@) 70%

(b) 60%

(c)30%

(d) 40%

(e) 20%

Q80. Find average number of all three items
manufactured by A?

A Afda AT awget & siaa g&1r ara Sim)

(a) 40

(b) 30

() 20

(d) 36

(e) 48
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S1. Ans. (d)
Sol.
B
T | c
NP
R v
T
v U Q
S2. Ans. (e)
Sol.
B
T | c
4
RT3 —Y
T
v U Q
S3. Ans. (b)
Sol.
B
T | c
A7
R Y
+
v U Q
S4. Ans. (a)
Sol.
B
T | c
N2
R —Y
T
v U Q
S5. Ans. (c)
Sol.
B
T | c
4
R— Y
T
v U Q
S6. Ans. (d)
S7. Ans. (e)
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$8. Ans. (b)
S9. Ans. (a)
$10. Ans. (d)

S$11. Ans. (c)
Sol.

Day

Persons

Monday

s

Tuesday

Wednesday

Thursday

Friday

Saturday

Sunday

AT =g =

S$12. Ans. (a)
Sol.

Day

Persons

Monday

s

Tuesday

Wednesday

Thursday

Friday

Saturday

Sunday

AT =g | e

$13. Ans. (c)
Sol.

Day

Persons

Monday

s

Tuesday

Wednesday

Thursday

Friday

Saturday

Sunday

Al == a

S14. Ans. (a)
Sol.

Day

Persons

Monday

S

Tuesday

Wednesday

Thursday

Friday

Saturday

Sunday

Alm|l=|a| = ae

$15. Ans. (b)
Sol.

Day

Persons

Monday

s

Tuesday

Wednesday

Thursday

Friday

Saturday

Sunday

Ao == e
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$16. Ans. (e)
Sol.
$17. Ans. (a)
Sol.

wv »n
S M
= ®
s
=
7]
~
(o]
N/

|7 %]
(=
T
>
=
g
~
(¢
N/
9

Flowers

|7 %]
oON
e
>
=
%]
~
()
-

—
i

S$21. Ans. (b)
Sol. Meaningful words formed by using letters E, T, R, A= RATE, TEAR, TARE
$22. Ans. (d)
Sol.
T I
4m
P R 5 11m

3m S5m

—

K 10m
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$23. Ans. (b)
Sol.

1lm

K 10m 1

S$24. Ans. (c)
Sol.

P R 1lm

K 10m 1

$25. Ans. (b)
Sol.

$26. Ans. (b)
Sol.
Month Date | Person
January 5 C
28 A
June 5 E
28 B
September | 5 D
28 F
$27. Ans. (d)
Sol.
Month Date | Person
January 5 C
28 A
June 5 E
28 B
September | 5 D
28 E
$28. Ans. (c)
Sol.
Month Date | Person
January 5 C
28 A
June 5 E
28 B
September | 5 D
28 F
$29. Ans. (a)
Sol. ]
Month Date | Person
January 5 c
28 A
June 5 E
28 B
September | 5 D
28 F

14 I www.sscadda.com

Adda247 App


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
http://www.sscadda.com/
https://applink.adda247.com/d/XhqWf9lSap

A

Addal247/

GET IT ON

Google Play

$30. Ans. (e)
Sol.
Month Date | Person
January 5 c
28 A
June 5 E
28 B
September 5 D
28 E

S$31. Ans. (b)
$32. Ans. (c)
$33.Ans. (c)
S$34. Ans. (d)
$35. Ans. (e)
$36. Ans. (d)
S$37. Ans. (b)
$38. Ans. (d)
$39. Ans. (a)

$40. Ans. (c)
Sol. Given word-POPULISM
After rearrangement- QNQTMHTN

S$41. Ans(b)
Sol.
Required difference = 40 X 6 — 44 X 4 = 64

S42. Ans(d)
Sol.
Required ratio = (25 X 6) : (20 X 6) = 5: 4

S43. Ans(e)

Sol.

Total fours hit by X = 44 x f =48
Total sixes hit by X = 40 x 122 _5p

100
Total run scored by X by fours & sixes =48 X 44+ 50 X 6 = 492

S44. Ans(d)
Sol.

Required average =

BIX4+adnd
— =212

$45. Ans(c)
Sol.
Total runs scored by A from fours = 62 X 4 = 248

Total run scored by B from sixes = 25 X 6 = 150

Required percentage = % * 100 = 65.33% ~ 65%
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$46. Ans(c)

Sol.

Here the pattern is:
1+1=2

2+3=5

5+5=10

1047 =17
7=17+9=26

S$47. Ans. (a)

Sol.
Missing number = 132
Pattern of series —
8+4=12
12+8=20
20+ 16=36
36+32=68
?7=68+064=132

$48. Ans. (d)
Sol.

Missing number = 10
Pattern of series —

L1 L L 1]

+

$49. Ans. (b)
Sol.

Pattern of series -
5+12 =46

6+2° =10
10+3* =19
19 + 4% = 35
?7=35+5% =60

$50. Ans(d)
Sol.

Here the pattern is:
14+5=6
6+10=16

16 + 15=31

31+ 20=51
?=51+25=76

S51. Ans(e)

Sol.

ATQ

Px 2 - 1000
100

P=2500 Rs.

Required interest = (2500 + 500) % 20x2

100

=1200 Rs.

S$52. Ans(d)
Sol.
Total age of nine members = 93—4 X 9 = 282 years

Total age of eight member six years ago = (282 —18) - (6 X 8) = 216 years
Required average = % =27 years
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$53. Ans.(a)
Sol.

Let present population = P

~ 21,600 =P (1 +—2)3
100
_ 21,600x125
T z1s
P=12,500

$54. Ans.(d)
Sol.

Let the cost price of article be Rs 100x
Mark price of article = 100x x % = Rs 140x

Selling price of article = 140x x % = Rs 105x

ATQ,

~ (105x — 100x) = 420

x= 84

- cost price = Rs 8400

Mark up price = 84 x 140 = Rs 11760

-~ selling price after 20% discount
= 11760 x 2= = 9408
100
~ Profit after 20% discount = 9408 - 8400
=Rs 1008

$55. Ans.(d)
Sol.

Let radius of smaller & larger circles be ry & r; respectively.
2mry =132

ri=21m

2nr; =176 = r; = 28 m.

.. Required difference

= ne3-13)
22

=—=—X49X7
7

=1078 m?

$56. Ans.(b)
Sol.

i (i)
eq. (i) and (iii])
1

T 24
A=96 Days

+ + +

1
c

1

c
1_
c

+

G IE
S Wi e

-
=}

o |k

S$57. Ans.(d)

Sol.

Let the speed of boat in downstream be 5x km/hr
And the speed of beat in upstream be 3x km/hr

- Speed of boat in still water = # = 4x km/hr
Speed of stream = Bt oy km/hr

2
ATQ,
=3Ix=6=x=2

Required time = % + ? = 6 hours
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S$58. Ans. (a)
Sol.
Profit sharing ratio of A & B = (9000 X 12): (X X 8)
=13500: X
ATQ,
13500 _ 1700-800
x 800
X =12000

$59. Ans.(a)

Sol.
Let initial quantity of milk and water be x and y respectively
Now

x

3
» _2
3 X
x =2y (i)
Again
xte_2
¥ - 1
x=-2y+4=0 ..[if)
Put (i) in (ii)
%}'—Zy =—4
y=8
Sox =12 liter

So total initial quantity = 12 + 12 x §= 20 liter

$60. Ans(d)

Sol.

Speed of traininm/s =72 X 15—3 =20m/s

Length of platform = 4.5 X 110 = 495 meters
. . 110+495

Required time = — - 30.25 seconds

S$61. Ans.(b)

Sol.
Required average = E190+1;z);—(1sz+1s4) =344

S$62. Ans.(a)
Sol.

Required ratio =
_ 350

—=1:1
350

160+190
1784172

S$63. Ans.(d)

Sol.
Required percentage = W x 100
=112.5%

S64. Ans.(b)

Sol.
Required difference = (168 + 178+164) - (158 + 160+162)
=510 - 480
=30

$65. Ans.(c)
Sol. Required sum =168+178+172+164=682

$66. Ans. (d)
Sol.
6080 + 19 = 7% of 256
320=7x ==
100

7=125
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S$67. Ans (e)
Sol.

28 x 625 x2=7
100 3
7= 400

$68. Ans(c)
Sol.

15+ 750 -220=?
?7=545

$69. Ans. (b)
Sol.

?=1072 — 628
?= 444

$70. Ans. (a)
Sol.

7-256 =130
7= 386

S$71. Ans. (b)
Sol.

37 3 2
=3tis
7= 111+36—64

24
=92
T 2
?7=3 ;
S$72. Ans. (b)
Sol.

80
360 — —— x 1200 + 840 =7
100

1200 — 960 =7
7= 240

$73. Ans. (c)

Sol.

V7= 784 — 1180 + 400
VI=4

?7=16

S74. Ans. (a)
Sol.

(?)% =400 — 300
(?)% =100
7=10

$75. Ans. (c)
Sol.

288 — 55 =7
1= 1233

$76. Ans(c)
Sol.
(2+3+1)+
=7

24143 _

?
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S$77. Ans(d)
Sol.
2% x (7 +96) =48

100 )
?7+96=48 x%?

7496 = 240
?7=240-96
7=144

$78. Ans(e)
Sol.

Let total balloons manufactured by A = 4x

So, Total balloons manufactured by B = 4x X 5x

135 _
100
And total balls manufactured by A = 4x X % = 6x
Given, 6x - 5x =5

X=5

So, total balls manufactured by B=5 X 6 + 6 = 36
Let total toys manufactured by A and B be 5y and 6y respectively

Given, 6y - 5y =8

y=8

Items A B
Balloons 20 25
Balls 30 36
Toys 40 48

Required difference = (40 + 48) —(30 + 36) = 22

$79. Ans(e)
Sol.

Let total balloons manufactured by A = 4x

So, Total balloons manufactured by B = 4x x % = 5x

And total balls manufactured by A = 4x X % = 6x

Given, 6x-5x=5

x=5

So, total balls manufacturedby B=5x 6 + 6 = 36

Let total toys manufactured by A and B be 5y and 6y respectively
Given, 6y -5y =8

y=8

Items A B
Balloons 20 25
Balls 30 36
Toys 40 48

Required percentage = % % 100 = 20%

$80. Ans(b)
Sol.

Let total balloons manufactured by A = 4x

So, Total balloons manufactured by B = 4x X % = 5x

And total balls manufactured by A = 4x x % = 6x

Given, 6x-5x=75

x=5

So, total balls manufacturedby B=5x 64+ 6 = 36

Let total toys manufactured by A and B be 5y and 6y respectively
Given, 6y -5y =8

y=8

Items A B
Balloons 20 25
Balls 30 36
Toys 40 48
Required average = 20430~ 30

3
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